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5B3: Geometric Series

Go to: http://www.purplemath.com/modules/series.htm. Near the top of the page, you will find links to related topics,
which may be useful to you. Then answer each of the questions.

1. Describe the difference(s) between a sequence and a series. Create and label your own example of each.
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2. Describe the difference(s) between an arithmetic sequence and a geometric sequence. Create and label your own
example of each.
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3. Describe the difference(s) between an arithmetic series and a geometric series. Create and Iabel your own example of
each. . \
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Examples: Use Euclid’s Method to find the sum. (We will look at a shortcut to find the sum of a geometric series.)
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Exercises.
A. [Identify each sequence as arithmetic, geometric, or neither.

B. Write a recursive form definition for each sequence.
C. Write a closed form definition for each sequence.
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Find each sum. Use Euclid’s Method or Gauss’s Method when appropriate. If neither method applies, then find the
sum by adding all of the terms in the series.
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17. Because of your mathematical prowess, you have been offered two jobs.

Job A is at Gaussian Elimination. The job will pay $10,000 on the first day. The pay will increase by $1000 each day. (In
other words, the job pays $10000 on day one, $11000 on day two, $12000 on day three and so on.) How much would you

earn in total at Gaussian Elimination during the 30 days?
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Job B is at Euclidean Algorithm. The job will pay $0.01 the first day and then double the pay for the previous day after
that. (In other words, the job will pay $0.01 on day one, $0.02 on day 2, $0.04 on day three, $0.08 on day and so on.) How

much would you earn in total at Euclidian Algorithm during the 30 days?
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Which job is more lucrative and by how much?
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18. People often invest some money each month or year into a retirement account. Suppose you plan to invest $3600 into a
retirement account. Your first investment will take place at age 25 and your last investment will take place at age 65. What
is your retirement account balance at age 65 under each of the following conditions? (Your investment made at age 25 will
earn interest for 40 years, while the investment made at age 65 will earn interest for 0 years for this question.)

B. Your investment earns 6% APR compounded annually.
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A. Your investment earns 3% APR compounded annually.
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Selected Exercise Answers:
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